
PHYSICS

BOOKS - PEARSON IIT JEE FOUNDATION

HEAT

Example

1. Calculate the amount of heat required in joule, such that the amount of

heat required to heat certain amount of water is 8750 cal?

Watch Video Solution

2. The heat capacity of 80 kg lead is found to be 11.2 kJ . Find its

specific heat capacity

Watch Video Solution

K − 1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zUT55xiEmFY3
https://dl.doubtnut.com/l/_WsEFOu1SLNAB


3. Find the specific ehat capacity of ice if 12 kg of ice absorbs 50.4 kJ of

heat to raise its temperature from .

Watch Video Solution

−20∘ C  to 0∘ C

4. Two bodies A and B of equal masses are supplied with equal amountt

of heat energy. If rise in temperature of A is more than that in B, what is

the relation between their specific heats?

Watch Video Solution

5. At what temperature on the Fahrenheit scale is the reading five times

the reading on the Celsium scale?

Watch Video Solution

https://dl.doubtnut.com/l/_WsEFOu1SLNAB
https://dl.doubtnut.com/l/_K94xIyc3rssu
https://dl.doubtnut.com/l/_pkSaCL9AaaG8
https://dl.doubtnut.com/l/_cazsgpZ6Pe1P


6. The lower and upper fixed points of a fauly thermomenter ar 

and , respectively. If the thermometer reads  on this

thermometer, find the correct temperature onn the celsium scale.

Watch Video Solution

−2∘ C

102∘ C 50∘ C

7. Calcualte the mass of stea that should be passed though 60 g of water

at , such that the final temperature is . (take specific latent

heat of steam is 2250 J ).

Watch Video Solution

20∘ C 40∘ C

g − 1

8. Calculate the amount of ice, which is sufficient to cool 45g of water,

contained at , such that the final temperature of the mixture is 

. (Take specific latent heat of fusion of ice is )

Watch Video Solution

30∘ C

10∘ C 336  J g − 1

https://dl.doubtnut.com/l/_cwaVAhshKmik
https://dl.doubtnut.com/l/_unMJygB0c2IC
https://dl.doubtnut.com/l/_OHd2r3b5D4jL
https://dl.doubtnut.com/l/_QQ1s7FrIbhyH


9. The heat capacity of 80 kg lead is found to be 11.2 kJ . Find its

specific heat capacity

Watch Video Solution

K − 1

10. Find the specific heat capacity of ice if 1.2 kg of ice absorbs 50.4 kJ of

heat to raise its temperature from .

Watch Video Solution

−20∘ C  to 0∘ C

11. Two bodies A and B of equal masses are supplied with equal amountt

of heat energy. If rise in temperature of A is more than that in B, what is

the relation between their specific heats?

Watch Video Solution

12. At what temperature on the Fahrenheit scale is the reading five times

the reading on the Celsium scale?

https://dl.doubtnut.com/l/_QQ1s7FrIbhyH
https://dl.doubtnut.com/l/_N0mbMdFJpEj4
https://dl.doubtnut.com/l/_PtRP3snnPFB5
https://dl.doubtnut.com/l/_QZHzangS9ZuW


Watch Video Solution

13. The lower and upper fixed points of a fauly thermomenter ar 

and , respectively. If the thermometer reads  on this

thermometer, find the correct temperature onn the celsium scale.

Watch Video Solution

−2∘ C

102∘ C 50∘ C

14. Calcualte the mass of steam that should be passed though 60 g of

water at , such that the final temperature is . (take specific

latent heat of steam is 2250 J ).

Watch Video Solution

20∘ C 40∘ C

g − 1

15. Calculate the amount of ice, which is sufficient to cool 45g of water,

contained at , such that the final temperature of the mixture is 

. (Take specific latent heat of fusion of ice is )

W t h Vid S l ti

30∘ C

10∘ C 336  J g − 1

https://dl.doubtnut.com/l/_QZHzangS9ZuW
https://dl.doubtnut.com/l/_AKlBuMylmEpd
https://dl.doubtnut.com/l/_yCBHJ6oFAC7v
https://dl.doubtnut.com/l/_Z6QYR0r3MOQA


Very Short Answer Type Question

Watch Video Solution

1. What is heat?

Watch Video Solution

2. Why is a constriction provided in a clininal thermometer?

Watch Video Solution

3. Define 1 calorie and 1 kilocalorie. What is the use of calorimeter?

Watch Video Solution

4. The boiling point of pure water is ________ , at normal atmospheric

pressure.

. ∘ C

https://dl.doubtnut.com/l/_Z6QYR0r3MOQA
https://dl.doubtnut.com/l/_7CxOcGeiGhoj
https://dl.doubtnut.com/l/_HimniSlRhdU0
https://dl.doubtnut.com/l/_0rA4KdBq8b2z
https://dl.doubtnut.com/l/_JvjKPgBIsChS


Watch Video Solution

5. Define heat capacity and specific heat capacity. Give their S.I. units.

Watch Video Solution

6. In Galileo's thermomenter, the expansion of ___is used to measure the

temperature.

Watch Video Solution

7. Why boiling water is not used to sterilize a clinical thermomenter?

Watch Video Solution

8. Define temperature.

Watch Video Solution

https://dl.doubtnut.com/l/_JvjKPgBIsChS
https://dl.doubtnut.com/l/_VRPNBhGbkn2p
https://dl.doubtnut.com/l/_JpEmKZMMv7bW
https://dl.doubtnut.com/l/_uFvqm3lguocN
https://dl.doubtnut.com/l/_QgtlMPoYZqA4


9. What physical quality determines the flow of heat energy?

Watch Video Solution

10. State the use of Six's maximum and minimum thermometer.

Watch Video Solution

11. What is a hypsometer?

Watch Video Solution

12. Specific heat capacity of water is ____ J .

Watch Video Solution

kg − 1K − 1

https://dl.doubtnut.com/l/_QgtlMPoYZqA4
https://dl.doubtnut.com/l/_wso6dVa6u3FS
https://dl.doubtnut.com/l/_vzEh0rd75LBM
https://dl.doubtnut.com/l/_aDtfMKkt2aZp
https://dl.doubtnut.com/l/_yXxRRzoRhmoM


13. Define melting and boiling points.

Watch Video Solution

14. What is the normal human body temperature?

Watch Video Solution

15. Why is the handle of a pressure cooker made of ebonite?

Watch Video Solution

16. What relation is used to convert temperature in one scale to other

scale?

Watch Video Solution

https://dl.doubtnut.com/l/_D5T3Ru1mKdOb
https://dl.doubtnut.com/l/_RvJVhIpaOUF9
https://dl.doubtnut.com/l/_7rEUM095cmZf
https://dl.doubtnut.com/l/_BNNUZ7ciN3jG


17. If the pressure is chagned, what happens to melting and boiling points

of a substance?

Watch Video Solution

18. Express  in celsius scale of temperature.

Watch Video Solution

102∘ F

19. 8400J=______calories.

Watch Video Solution

20. The temperature of body increases by . How much is the

corresponding rise in Fahrenheit temperature?

Watch Video Solution

1∘ C

https://dl.doubtnut.com/l/_cCR4tNSvKS0C
https://dl.doubtnut.com/l/_4OegEejMJgGx
https://dl.doubtnut.com/l/_GxX6uyAMHZj2
https://dl.doubtnut.com/l/_E9ctXWUT4JmY
https://dl.doubtnut.com/l/_1kAj7EbgGcJE


21. What is the use of safety valve in a pressure cooker?

Watch Video Solution

22. What is the principle of the thermometer?

Watch Video Solution

23. Upper fixed point of a themometer is marked using a

Watch Video Solution

24. For the same rise in temperature, which expands more, alcohol or

mercury?

Watch Video Solution

https://dl.doubtnut.com/l/_1kAj7EbgGcJE
https://dl.doubtnut.com/l/_2yYPHB8OAnB6
https://dl.doubtnut.com/l/_rQQL96TkApZC
https://dl.doubtnut.com/l/_NZs0rGtRFbLK


Short Answer Type Question

25. What is the principle of working of pressure cooker?

Watch Video Solution

1. What is a bimetallic strip? Where is it used?

Watch Video Solution

2. At what temperature will both the Celsius and Fahrenheit scales read

the same value?

Watch Video Solution

3. Give osme advantages of high specific heat of water

Watch Video Solution

https://dl.doubtnut.com/l/_WhinsnkZGtxl
https://dl.doubtnut.com/l/_dehLgXq2t7mq
https://dl.doubtnut.com/l/_S2hXdcmqEQE3
https://dl.doubtnut.com/l/_YP1q13XkCKwK


4. Find the heat energy required to boil 5 kg of water iff its initial

temperature is  (specific heat of water is 4200 J  and

boiling point is )

Watch Video Solution

30∘ C kg − 1  k − 1

100∘ C

5. the thermal capacity of 11 kg of water is same as 120 kg of copper. If

specific heat capacity of water is 4200. J , find the specific

heat capacity of copper.

Watch Video Solution

kg − 1  K − 1

6. Distinguish between heat and temperature.

Watch Video Solution

https://dl.doubtnut.com/l/_YP1q13XkCKwK
https://dl.doubtnut.com/l/_jODiHCWggZTL
https://dl.doubtnut.com/l/_SZ6GZXnxiWjg
https://dl.doubtnut.com/l/_zpYUk4SQ2qKB


7. At what temperature the reading on the Celsium scale, is half the

reading on the Fahrenheit scale?

Watch Video Solution

8. Explain, how land and sea breezes occur?

Watch Video Solution

9. Why the difference between the day and the night temperatures high

in Pokran desert?

Watch Video Solution

10. How are LFP and UFP marked in a Celsium scale? Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_HlxMDhkThv80
https://dl.doubtnut.com/l/_hi1Gbwup7xac
https://dl.doubtnut.com/l/_Or2Dnp9U2oUn
https://dl.doubtnut.com/l/_MTJrjEop81Lq
https://dl.doubtnut.com/l/_i9WHHyeSpiII


11. A faulty thermomenter who's LFP is  and UFP is  measures

a temperature as . What is the correct temperature?

Watch Video Solution

−5∘ C 105∘ C

80∘ C

12. Describe, with a neat diagram, the working of a clinical thermometer.

Watch Video Solution

13. If the temperature of a body increases by , find the rise in

temperature in Fahrenheit scale.

Watch Video Solution

10∘ C

14. What is riveting? Explain

Watch Video Solution

https://dl.doubtnut.com/l/_i9WHHyeSpiII
https://dl.doubtnut.com/l/_5eXrm5JlLj9t
https://dl.doubtnut.com/l/_LfFaa2l6MPNB
https://dl.doubtnut.com/l/_3xZe2q5FUkm9


Essay Type Questions

1. Describe andd experment to determine melting point of ice and boiling

point of water.

Watch Video Solution

2. Explain why a constriction is provided in a clinical thermometer,

consiering the fact that during expansion mercury level while increasing

passes through the sae constriction.

Watch Video Solution

3. Describe an experiment to determine melting point of wax.

Watch Video Solution

https://dl.doubtnut.com/l/_ULGIQktov5hO
https://dl.doubtnut.com/l/_vaYyrx5ojEn8
https://dl.doubtnut.com/l/_SMateDZM80k2


Level 1

4. Alcohol thermometers are preferred to a mercury thermomemter in

cold countries.

Watch Video Solution

5. Describe, with a neat diagram, the working of Six's maximum and

minimum thermometer.

Watch Video Solution

1. In six' maximum and minimum thermometer, the thermometric liquid is

mercury.

Watch Video Solution

https://dl.doubtnut.com/l/_RVUlWpVo8DNf
https://dl.doubtnut.com/l/_MA1Wsv88gDqL
https://dl.doubtnut.com/l/_nJaDhpXHA0jO


Level 1 Fill In The Blanks

2. Liquefaction is the process in which a solid changes into liquid on

supply of heat.

Watch Video Solution

3. If the heat energy abosrobed by two identical bodies A and B is 1

calorie and 1 joule, repsectively, the rise in temperature of A is greater

than the rise in temperature of B.

Watch Video Solution

1. If the melting point of ice at a give place is , the atmospheric

pressure at the place is ______.

View Text Solution

0∘ C

https://dl.doubtnut.com/l/_dSPIEb7CUNT2
https://dl.doubtnut.com/l/_wzGBEfQSawdY
https://dl.doubtnut.com/l/_7X0MbQKNu3BQ
https://dl.doubtnut.com/l/_WqiFdMTWfw7I


2. A good conductor of heat will have ____specific heat capacity.

Watch Video Solution

3. Increase in pressure____ the melting point of ice.

Watch Video Solution

4. In Six's maximum an minimum thermometer, the indices are brought

down to the level of the mercury with the help of_____.

Watch Video Solution

5. The iron rims are fitted to the wooden wheels of bullock carts and

tongas by process of ____

Watch Video Solution

https://dl.doubtnut.com/l/_WqiFdMTWfw7I
https://dl.doubtnut.com/l/_wnUyD3accr0U
https://dl.doubtnut.com/l/_Nmt7QIEBYSbk
https://dl.doubtnut.com/l/_qUuLhomi61ib
https://dl.doubtnut.com/l/_Zi3I3tpX0aRa


Level 1 Match The Column

6. The normal temperature of the human body is .Calculcate this

temperature on celsius scale and absolute scale.

Watch Video Solution

98.4∘ F

7. The average kinetic energy of the molecules of substance_________during

the process of melting.

View Text Solution

https://dl.doubtnut.com/l/_Zi3I3tpX0aRa
https://dl.doubtnut.com/l/_vrzWfMbwiVXj


1.  


Watch Video Solution

https://dl.doubtnut.com/l/_7Ppw8FFEdsk3


Level 1 Mcq S

1. Which of the following represents the smallest temperature change?

A. 

B. 

C. 

D. Both a and b

Answer: B

View Text Solution

1∘ C

1∘ F

1K

2. If C, F and K are the temperature on Celsius, Fahrenheit and Kelvin

scale,  are the change in temperature in celsium,

Fahrenheit and Kelvin scale, respectively, the correct relation among the

following is:-

ΔC, ΔF and ΔK

https://dl.doubtnut.com/l/_7Ppw8FFEdsk3
https://dl.doubtnut.com/l/_tmeTjSIko3U9
https://dl.doubtnut.com/l/_50LmSPnPSUMe


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
C

5

F

9

K − 273

5

= =
ΔC

5

ΔF

9

ΔK

5

= =
ΔC

5

ΔF − 32

9

ΔK − 273

5

= =
C

5

F

9

K

5

3. The degree of hotness or coldness of a body is called its

A. Heat capacity

B. Temperature

C. Latent heat capacity

D. None of these

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_50LmSPnPSUMe
https://dl.doubtnut.com/l/_64zLjOjfuAe0


4. When equal amount of heat is supplied to two different substnace 'A'

and 'B', the riese in temperature with time is graphically represented as

follows. Choose the correct statement. 

A. If masses of 'A' and 'B' are equal, specifici heat of 'A' is equal to

specific heat of 'B'

https://dl.doubtnut.com/l/_64zLjOjfuAe0
https://dl.doubtnut.com/l/_hwtht7e0nMN8


B. If mass of 'A' is greater than mass of 'B' the specific heat capacity of

'A' is greater than the specific heat capacity of 'B'.

C. Heat capacity of A is less heat capacity of B.

D. None of these

Answer: C

View Text Solution

5. For a certain engineering application, it is required to rise the

temperature of a given mass of a body as quickly as possible. The material

should have

A. High specific heat capacity

B. high density.

C. Low specific heat capacity

D. Heat capacity

https://dl.doubtnut.com/l/_hwtht7e0nMN8
https://dl.doubtnut.com/l/_vSOj6VatifuQ


Answer: C

Watch Video Solution

6. Specific heat capacity of water is

A. 1 cal 

B. 4186 J 

C. 4186 kJ 

D. All of the above

Answer: A

Watch Video Solution

g − 1. ∘ C − 1

g − 1. ∘ C − 1

kg − 1  K − 1

7. Under normal conditions, naphthalene changes its state from______

A. Solid to liquid

https://dl.doubtnut.com/l/_vSOj6VatifuQ
https://dl.doubtnut.com/l/_mFGWR1rQFRuq
https://dl.doubtnut.com/l/_TRv2cOMAgdu4


B. liquid to gas

C. liquid to solid

D. solid to gas

Answer: D

Watch Video Solution

8. The distance betweent he LFP and UFP of a thermometer is 18 cm. the

readint on the thermometer in Fahrenheit scale when the length of the

mercury thread is 8 cm is____

A. 

B. 

C. 

D. 

Answer: B

212∘ F

112∘ F

80∘ F

180∘ F

https://dl.doubtnut.com/l/_TRv2cOMAgdu4
https://dl.doubtnut.com/l/_QI00mxU0yIEI


Watch Video Solution

9. A: At high altitude regions the cooking of food becomes difficult 

B: Water boils at lower temperature when the presure is low.

A. Both A and B are wrong.

B. A and B are correct and B is not the correct explanation of A.

C. A and B are correct and B is the correct explanation of A.

D. A is correct but B is wrong.

Answer: C

Watch Video Solution

10. The change in temperature of a body is , then the change in

temperature of Kelvin scale is :-

A. 293 K

20∘ C

https://dl.doubtnut.com/l/_QI00mxU0yIEI
https://dl.doubtnut.com/l/_w1ncQJIl8aIv
https://dl.doubtnut.com/l/_MjJjfWiesThk


B. 25 K

C. 20 K

D. 253 K

Answer: C

Watch Video Solution

11. In the process of boiling,

A. Kinietic and potential energy of water molecules increases

B. kinetic energy of molecules increases and potential energy of

molecules decreases.

C. potential energy of molecules increases and kinetic energy of

molecules remains same.

D. Kinetic energy of molecules increases and potential energy of

molecules remains the same.

https://dl.doubtnut.com/l/_MjJjfWiesThk
https://dl.doubtnut.com/l/_Nqo1CUoL38zU


Answer: C

Watch Video Solution

12. When the pressure increased,

A. melting point of ice decreases and boiling point of water increases.

B. Melting point of ice and boiling point of water decreases.

C. melting point of ice and boiling point of water increases.

D. melting point of ice increases and boiling point of water decreases.

Answer: A

View Text Solution

13. Food in the pressure cooker is cooked faster, as

A. the boiling point increases due to an increase in pressure.

https://dl.doubtnut.com/l/_Nqo1CUoL38zU
https://dl.doubtnut.com/l/_zFnQ9z0nzmwz
https://dl.doubtnut.com/l/_nwC8zaFASd1E


B. the boiling decreases due to an increase in pressure.

C. More steam is available at 

D. more pressure is available at 

Answer: A

Watch Video Solution

100∘ C

100∘ C

14. Given that the ratio of specific heat capacity of alcohol to that of

water is 13 : 25, which of the following statements is true? 

A: When temperature is raised through  the heat energy absorbed by

2 kg of alcohol is less than the heat energy absorbed by 1 kg of water. 

B: Heat capacity of 2 kg alcohol is more than the heat capacity of 1 kg

water.

A. A is true and B is false.

B. A and B are true

C. A is false and B is true.

1∘ C

https://dl.doubtnut.com/l/_nwC8zaFASd1E
https://dl.doubtnut.com/l/_5pAO5TPXGpOT


D. A and B are false.

Answer: C

Watch Video Solution

15.  is numerically equal to

A. 

B. 

C. 

D. All the above

Answer: A

Watch Video Solution

−40∘ C

−40∘ F

233K

−32∘ R

https://dl.doubtnut.com/l/_5pAO5TPXGpOT
https://dl.doubtnut.com/l/_NF7BdUm9y8l3


16. Which of the following properties are suitable for making cooking

utensils?

A. High specific heat and high conductivity.

B. Low specific heat and low conductivity

C. High specific heat and low conductivity.

D. Low specific heat and high conductivity.

Answer: D

Watch Video Solution

17. The advantage of alcohol is thermometric liquid is due to its

A. low boiling point

B. low freezing point.

C. high vapour pressure.

D. All the above

https://dl.doubtnut.com/l/_nMuis2cxzeuB
https://dl.doubtnut.com/l/_u0Ewv0DBMkWo


Answer: B

Watch Video Solution

18. The temperature at which molecular movement of matter ceases is

called_____

A. normal temperature

B. zero kelvin

C. abnormal temperature

D. None of these

Answer: B

Watch Video Solution

19. Gas thermometers are more sensitive as compared to liquid

thermometers, as their

https://dl.doubtnut.com/l/_u0Ewv0DBMkWo
https://dl.doubtnut.com/l/_dBczqhzhBCtd
https://dl.doubtnut.com/l/_zhYZPnYOyDUU


A. coefficient of expansion is very high

B. coefficient of expansion is very low.

C. density is very high

D. None of these

Answer: A

Watch Video Solution

20. Which among the following is the hottest substance?

A. Water at 

B. Steam at 

C. Mercury at 

D. All the above are equally hot.

Answer: D

Watch Video Solution

100∘ C

100∘ C

100∘ C

https://dl.doubtnut.com/l/_zhYZPnYOyDUU
https://dl.doubtnut.com/l/_qfmBOD5RuNtu


21. Mercury is used as thermometer liquid. Which among the following

properties of mercury is used in this?

A. Low specific heat capacity

B. High boiling point and low melting point

C. Low vapour pressure

D. All the above

Answer: D

Watch Video Solution

22. A difference of temperature of  is equivalent to a difference of

A. 

B. 

C. 

25∘ C

25∘ C

25K

25∘ R

https://dl.doubtnut.com/l/_qfmBOD5RuNtu
https://dl.doubtnut.com/l/_UeVnwCNJkdUg
https://dl.doubtnut.com/l/_xfOB8QNcvuJh


D. None of these

Answer: D

Watch Video Solution

23. Arrange the following steps in proper sequence for the construction

and calibration of Celsius thermometer. 

(A) Lower fixing point is marked by immersing the bulb of the

thermometer in melting ice taken in a funnel. 

(B) The distance between the two fixed points is called fundamental

interval. It is divided into 100 equal divisions in Celsius scale. 

(C) Take a thick walled capillary tube with thin walled glass bulb and fill it

with mercury with the help of a funnel. 

(D) Mark the upper fixing point with the help of hypsometer. 

(E) Place the glass bulb in a hot oil bath while filling the mercury to

remove the air bubbles.

A. c a d e b

https://dl.doubtnut.com/l/_xfOB8QNcvuJh
https://dl.doubtnut.com/l/_Lkvr1u1fwDOW


B. c e a d b

C. c e a b d

D. c d b e a

Answer: B

Watch Video Solution

24. A ginven substance of mass 'm' is in solid state at certain temperature.

Arrange the following steps in proper sequence to calcualte the total

heat energy required to just convert the substance completely into

gaseous state. 

(a). Note down the specific latent heat of vaporization of the substance

and calculate the heat supplied to convert from liquid to gaseous state

using the formula. 

(b) Note down the melting point of the substance and calculate the heat

supplied to increase the temperature of the solid to its melting point. 

(c) Note down the boiling point of the substance and calculate the heat

https://dl.doubtnut.com/l/_Lkvr1u1fwDOW
https://dl.doubtnut.com/l/_ozQPFykVrT7P


supplied to increase the temperature of the substance from melting

point to its boiling point. 

(d). Add all the heat energies, it gives the resultant hea supplied to the

solid to just convert it into gaseous state. 

(e) Note down the specific latent heat of fusion of the substance and

calculate the heat supplied to convert the substance from solid state to

liquid state.

A. b d e c a

B. a c e d b

C. a b c d e

D. b e c a d

Answer: D

View Text Solution

25. Black surface is a

https://dl.doubtnut.com/l/_ozQPFykVrT7P
https://dl.doubtnut.com/l/_9oZ0facMmUC8


A. good absorber of heat energy.

B. good radiator o heat energy.

C. Both a and b

D. None of these

Answer: C

Watch Video Solution

26. As the temperature difference between the ends of a conductor

increase the heat transfer rate by conduction____

A. increases

B. decreases

C. remains same

D. None of these

Answer: A

https://dl.doubtnut.com/l/_9oZ0facMmUC8
https://dl.doubtnut.com/l/_AhJnu7ACz0z2


Watch Video Solution

27. heat transfer rate is more ini_____

A. glass

B. wood

C. plastic

D. copper

Answer: D

Watch Video Solution

28. Which of the following statements is (are) true about conduction?

A. A medium is necessary for the conduction of heat.

B. The rate of conduction of heat depends upon the nature of the

medium.

https://dl.doubtnut.com/l/_AhJnu7ACz0z2
https://dl.doubtnut.com/l/_R8fMSUzMW8vn
https://dl.doubtnut.com/l/_n7LoHFkpHC4d


C. As the particles of a medium conduct heat, they only vibrate in their

own place, they do not leave their original place.

D. All the above

Answer:

Watch Video Solution

29. A piece of ice at  is dropped into water at . Which of the

following statements is correct?

A. Ice melts

B. Water freezes

C. Both a and b

D. None of these

Answer:

Watch Video Solution

0∘ C 32∘ F

https://dl.doubtnut.com/l/_n7LoHFkpHC4d
https://dl.doubtnut.com/l/_5uBPlLRhSTXl


Level 2

30. Which among the following statement is/are correct?

A. The priciple of a bimetallic strip is unequal expansion of metals.

B. An iron ring is cooled to fix it on a wooden wheel.

C. When the room temperature is raised, a pendulum clock loses time

D. All of the above

Answer:

Watch Video Solution

1. The density of two spheres of equal radius are in the ratio 1:3 and their

specific heat capacities in the ratio 2:1 what is the ratio of their heat

capacities?

Watch Video Solution

https://dl.doubtnut.com/l/_5uBPlLRhSTXl
https://dl.doubtnut.com/l/_wUFqYA3T1ZAy
https://dl.doubtnut.com/l/_ATaiWPr3MInt


2. The total distance between the lower fixed point and the upper fiixed

point of a thermometer is 12 cm. when this thermometer is palced in a

vessel containing 500g water the reading on the scale was 3 cm.. When 10

lead shots at  were dropped into this container the mercury level

int he thermometer rose to 31 mm. find the average heat capacity o the

lead shots. (you may leave the answer as a fraction). 

Specific heat capacity of water =4.2 kJ 

Watch Video Solution

100∘ C

kg − 1  K − 1

3. When the mercury thread rises to 3/4th of the distance between the

two fixed points, what is the temperature indicated by the Fahrenheit

scale?

Watch Video Solution

https://dl.doubtnut.com/l/_ATaiWPr3MInt
https://dl.doubtnut.com/l/_Tr8q7oLf97Ff
https://dl.doubtnut.com/l/_5XWBy6UKEU5k


4. On a certain scale of temperature, the freezing and boiling points of

water are maked as 20 and 180 degress, respectively. What is the

temperature of a patient suffering with a high fever of  on that

scale?

Watch Video Solution

104∘ F

5. Two cylinderical bodies 'A' and 'B' have their radii in the ratio of 1:2 and

their lengths are in the ratio of 3:2. When equal amount of heat energy is

supplied to them, the rise in the temperature of A is found to be double

the rise in temperature of B. Determine the ratio of their specific heat

capacity. The ratio of density of A and B is 3:1

Watch Video Solution

6. The rate at which ice melts is more at the top when compared to the

bottom of the blacier. Explain whether the statement is true capacities.?

Watch Video Solution

https://dl.doubtnut.com/l/_sqgiOPR6QtEX
https://dl.doubtnut.com/l/_X2dc9l9DdMCh
https://dl.doubtnut.com/l/_HrVl1LfsKrN3


7. The density of two identical spheres are in the ratio 2:3 and their

specific heat capacities in the ratio 4:5 wha is the ratio of their heat

capacities?

Watch Video Solution

8. In a new scale of temperature the lower fixed point is marked as 0

corresponding to the melting point of substance which is equal to 

ad the upper fixed poitn is marked corresponding to the boiling point of

a substance which is equal to . the total length of scale between

the UFP and LFP is divided into 200 equal parts. Determine the

temperature in the new scale when the temperature of substance

measrued by celsius scale thermometer is 

View Text Solution

25∘ C

175∘ C

50∘ C

https://dl.doubtnut.com/l/_HrVl1LfsKrN3
https://dl.doubtnut.com/l/_JurFxfj4303M
https://dl.doubtnut.com/l/_692gvvHrhdRJ


9. How is water useful in the protection of fruits and vegetables from

damage during storage at sub zero temperature?

Watch Video Solution

10. Two substances P and Q are heated by using similar heating devices.

The mass of P and Q are 100 g and 75 g, respectively. The initial

temperature of P is  whereas the initial temperature of Q is . If

the temperature of the substance 'P' is increased to  in 40 minutes,

determine the time required to raise the temperature of Q to the same

value. The specific heat capacity of P and Q are 0.9 cal

, respectively.

Watch Video Solution

35∘ C 25∘ C

75∘ C

g ∘ C − 1 and 0.6  cal  g ∘ C − 1

11. Why is salt sprinkled under ice cube trays in a refrigerator?

View Text Solution

https://dl.doubtnut.com/l/_HLqiG20oB39E
https://dl.doubtnut.com/l/_f4nIyNtMH9Es
https://dl.doubtnut.com/l/_U9d8C8wdu0tl


12. The temperature of a body is measured in Kelvin scale, Fahrenheit

scale and Celsius scale. Which among them is a more accurate reading?

Explain.

Watch Video Solution

13. It is possible to melt a piece of aluminium placed in a spoon made of

zinc.

Watch Video Solution

14. A new scale fo temperature is introduced. One degree temperature

difference on the new scale is found to be equal to . Determine the

temperature in Celsium scale when the new scale and the celsium scale

shows the saer eading. The lower fixed point on the new scale is 

degree.

Watch Video Solution

. ∘ C
5

8

33∘

https://dl.doubtnut.com/l/_umT7kY08TTVf
https://dl.doubtnut.com/l/_pkhOUYyAYvow
https://dl.doubtnut.com/l/_GcP7L8UrNfFR


15. Convert  into Fahrenheit and Kelvin scale.

Watch Video Solution

55∘ C

16. Three metallic spheres A,B and C have their masses in the ratio 1:2:3,

specific heat capacities in the ratio 6:3:4. When the initial temperature of

the spheres are measrued in Celsius scale, the ratio of their temperature

is found to be 1:2:3. Initially the two spheres A and B are brought into

contact. when equilibrium temperature is attained, sphere B is brought

into contact with 'C'. Determine the ratio of the final temperatures of A,B

and C as measured in Celsius scale.

Watch Video Solution

17. If 3360 J of heat is required to melt 10 g of ice, how many kilocalories of

heat should be supplied to melt 1 kg ice?

Watch Video Solution

https://dl.doubtnut.com/l/_Mekt0BkYQhXM
https://dl.doubtnut.com/l/_YdvwK4RZcUx3
https://dl.doubtnut.com/l/_0X6qsFMlz6KR


Level 3

18. Find the amount of heat enegy required to convert 100 g of ice at

 into stea at . 


(Take 

)

Watch Video Solution

−10∘ C 120∘ C

Sice = 0.5  cal g − 1. ∘ C − 1, SW = 1  cal g − 1 ^ ( ∘ )C − 1, SSteam = 0.5  ca

19. To obtain of water at , how many grams of stea at its stea point

must be passed to 70 g of ice at .

Watch Video Solution

50∘ C

0∘ C

1. Quantity of heat gained by 100 kg of iron in raising its temperature by

 is . If a heater can supply heat at the rate of 1000 J ,10∘ C 11 × 104cal s − 1

https://dl.doubtnut.com/l/_BC3RI8zb98gk
https://dl.doubtnut.com/l/_zOAr1kGul6Sw
https://dl.doubtnut.com/l/_K26aeC7BuIvu


how much time does it take to heat an iron block of mass 2.5 kg when the

mecury level in a Fahrenheit thermometer rises by 45 divisions.

Watch Video Solution

2. Two containers X and Y are filled with water at different temperature.

When 10 g of water from container X is mixed with 20 g of water from

container Y, the resultant temperature is found to be . When 20 g of

water from container X is mixed with 10 g of water from container Y, the

resultant temperature is found to be . Determine the inital

temperature of water in container X and Y.

Watch Video Solution

20∘ C

30∘ C

3. In winters when the lakes start feezing, the weather becomes very

pleasant in the surrounding region. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_K26aeC7BuIvu
https://dl.doubtnut.com/l/_6KqeLAz4neuA
https://dl.doubtnut.com/l/_un0RaabletkG
https://dl.doubtnut.com/l/_NW5w1ZeVhdys


4. When two heating devices are used to heat two different substance A

and B the heat absorbed by A after 2 seconds is found to be equal to the

heat absorbed byy B after 3 seconds. The rise in temperature of A after 5

seconds is found to be equal to the rise in temperature of B after 6

seconds.i the ratio of masses o A and B is 1:2, determine the ratio of the

specific heat capacities of two substances.

Watch Video Solution

5. Ice cubes at  each of mass 200 g are dropped one after the other

into 2 kg water at  in such a awayy that after the first one melts

completely, the second one is dropped. If the heat energy required to

melt 1 g of ice is 80 cal, determine the maximum number of ice ice cubes

that can be dropped into the water such that no ice is left in the water

without melting.

Watch Video Solution

0∘ C

30∘ C

https://dl.doubtnut.com/l/_NW5w1ZeVhdys
https://dl.doubtnut.com/l/_9aSkM1Q0tzlv


6. if specific heat capacity of mercury is 0.033 cal , how

much heat is gained by 0.05 kg of mercury when its temperature rises

from  to 313K?

Watch Video Solution

g − 1  . ∘ C − 1

68∘ F

7. The heat capacity of a vessel is 300 cal  and the heat capacity of

water contained in the vessel is also 300 cal . How much heat (in

joules) is required to raise the temperature of water in the vessel by

?

Watch Video Solution

. ∘ C − 1

. ∘ C − 1

126∘ F

8. A new scale of temperature called TIME is introduced. The reading on

the new scale is twice the reading on the new scale is twice the reading

on a celsius scale when the temperature of a certain body is 373 K. The

reading on a Fahrenheit scale is found to (17/15)th the reading on TIME

https://dl.doubtnut.com/l/_9IBn9Ex729pZ
https://dl.doubtnut.com/l/_HoulG4ZCeadh
https://dl.doubtnut.com/l/_HrzgN6agp1zr


scale when the temperature of a body is . Determine the upper fixed

point and lower fixed point of the TIME scale.

Watch Video Solution

20∘ C

9. Two thermometers A and B are calibrated in different scales. When

both the termometers are placed in a container filled with hot water the

mecury thread in the thermometer A has mvoed through divisions

whereas the mercury thread in thermometer B has moved though 15

divisions. The reading on thermometers A and B are ,

respectively. if the lower fixed point fo the thermometer A is ,

determinet he lowe fixed pointt of the thermometer B.

Watch Video Solution

20∘ and 40∘

0∘

10. Two bodies of differet metals A and B having an equal mass are given

equal quantities of heat. Given that the molecular weight of A is greater

than that of B, compare the specific heat capacities of the two metals.

https://dl.doubtnut.com/l/_HrzgN6agp1zr
https://dl.doubtnut.com/l/_MMQJKQXDE8ll
https://dl.doubtnut.com/l/_EqhhuTyXuBn2


Test Your Concepts Very Short Answer Type Questions

(Note that the rise in temperature is a measure of the increase in the

average kinetic energy of the molecules.).

Watch Video Solution

1. What is heat?

Watch Video Solution

2. Why is a constriction provided in a clininal thermometer?

Watch Video Solution

3. The boiling point of pure water is ________ , at normal atmospheric

pressure.

Watch Video Solution

. ∘ C

https://dl.doubtnut.com/l/_EqhhuTyXuBn2
https://dl.doubtnut.com/l/_emiVDnLCLz8I
https://dl.doubtnut.com/l/_P6F5P7nd2okO
https://dl.doubtnut.com/l/_m5fi8v42gz0o


4. In Galileo's thermomenter, the expansion of ___is used to measure the

temperature.

Watch Video Solution

5. Specific heat capacity of water is

Watch Video Solution

6. Why boiling water is not used to sterilize a clinical thermomenter?

Watch Video Solution

7. Give three examples of each good and bad conduc tors of heat.

Watch Video Solution

https://dl.doubtnut.com/l/_m5fi8v42gz0o
https://dl.doubtnut.com/l/_LhlsHshYyAUp
https://dl.doubtnut.com/l/_dI7o78txrgkf
https://dl.doubtnut.com/l/_YQ5znxq6pBw2
https://dl.doubtnut.com/l/_yWwEoLcORJf1
https://dl.doubtnut.com/l/_aiSQt9wZsraI


8. Define temperature.

Watch Video Solution

9. What physical quality determines the flow of heat energy?

Watch Video Solution

10. State the use of Six's maximum and minimum thermometer.

Watch Video Solution

11. What is a hypsometer?

Watch Video Solution

12. Specific heat capacity of water is ____ J .kg − 1K − 1

https://dl.doubtnut.com/l/_aiSQt9wZsraI
https://dl.doubtnut.com/l/_v3p6smGEaNMB
https://dl.doubtnut.com/l/_ubaYbA5gUvwy
https://dl.doubtnut.com/l/_NfFdVUGn6wSP
https://dl.doubtnut.com/l/_MYT8BXTZXP1m


Watch Video Solution

13. Define melting and boiling points.

Watch Video Solution

14. What is the normal human body temperature?

Watch Video Solution

15. Why is the handle of a pressure cooker made of ebonite?

Watch Video Solution

16. What relation is used to convert temperature in one scale to other

scale?

Watch Video Solution

https://dl.doubtnut.com/l/_MYT8BXTZXP1m
https://dl.doubtnut.com/l/_zTkZprYgDFEk
https://dl.doubtnut.com/l/_tHnOm4GQjGD1
https://dl.doubtnut.com/l/_NVOxTANhMLaX
https://dl.doubtnut.com/l/_fIzVZlEQoM7g


17. If the pressure is chagned, what happens to melting and boiling points

of a substance?

Watch Video Solution

18. Express  in celsius scale of temperature.

Watch Video Solution

102∘ F

19. The temperature of body increases by . How much is the

corresponding rise in Fahrenheit temperature?

Watch Video Solution

1∘ C

20. What is the use of safety valve in a pressure cooker?

Watch Video Solution

https://dl.doubtnut.com/l/_fIzVZlEQoM7g
https://dl.doubtnut.com/l/_gJa7JlEwbjyz
https://dl.doubtnut.com/l/_IcXgMDyaRWOz
https://dl.doubtnut.com/l/_pAwKuW1H7NzS
https://dl.doubtnut.com/l/_CZgImbdl9llW


21. What is the principle of the thermometer?

Watch Video Solution

22. Upper fixed point of a themometer is marked using a

Watch Video Solution

23. For the same rise in temperature, which expands more, alcohol or

mercury?

Watch Video Solution

24. What is the principle of working of pressure cooker?

Watch Video Solution

https://dl.doubtnut.com/l/_CZgImbdl9llW
https://dl.doubtnut.com/l/_cCtn0MtQJAmZ
https://dl.doubtnut.com/l/_eXI4hg3vt4fT
https://dl.doubtnut.com/l/_UrbHGCvEoEKC
https://dl.doubtnut.com/l/_1RJ1Wkt5kxGn


Test Your Concepts Short Answer Type Questions

1. What is a bimetallic strip? Where is it used?

Watch Video Solution

2. At what temperature will both the Celsius and Fahrenheit scales read

the same value?

Watch Video Solution

3. Give osme advantages of high specific heat of water

Watch Video Solution

4. Find the heat energy required to boil 5 kg of water iff its initial

temperature is  (specific heat of water is 4200 J  and

boiling point is )

30∘ C kg − 1  k − 1

100∘ C

https://dl.doubtnut.com/l/_OKSU8T479xV4
https://dl.doubtnut.com/l/_IOTcazsVCJ18
https://dl.doubtnut.com/l/_SHWqq1aMcz0y
https://dl.doubtnut.com/l/_rR0KyRKNdwKA


Watch Video Solution

5. the thermal capacity of 11 kg of water is same as 120 kg of copper. If

specific heat capacity of water is 4200. J , find the specific

heat capacity of copper.

Watch Video Solution

kg − 1  K − 1

6. Distinguish between heat and temperature.

Watch Video Solution

7. At what temperature the reading on the Celsium scale, is half the

reading on the Fahrenheit scale?

Watch Video Solution

https://dl.doubtnut.com/l/_rR0KyRKNdwKA
https://dl.doubtnut.com/l/_JG4bPj2bey66
https://dl.doubtnut.com/l/_v0QW83DCtoTW
https://dl.doubtnut.com/l/_WUMay4bXakAh


8. Explain, how land and sea breezes occur?

Watch Video Solution

9. Why the difference between the day and the night temperatures high

in Pokran desert?

Watch Video Solution

10. How are LFP and UFP marked in a Celsium scale? Explain.

Watch Video Solution

11. A faulty thermomenter who's LFP is  and UFP is  measures

a temperature as . What is the correct temperature?

Watch Video Solution

−5∘ C 105∘ C

80∘ C

https://dl.doubtnut.com/l/_5N7JJU6LGcok
https://dl.doubtnut.com/l/_6O6V6JFf7Xuq
https://dl.doubtnut.com/l/_gQzK4XZxGT55
https://dl.doubtnut.com/l/_S5alQP3yfOG5
https://dl.doubtnut.com/l/_6brdHPJvCNAY


12. Describe, with a neat diagram, the working of a clinical thermometer.

Watch Video Solution

13. If the temperature of a body increases by , find the rise in

temperature in Fahrenheit scale.

Watch Video Solution

10∘ C

14. What is riveting? Explain

Watch Video Solution

15. At what temperature is the reading on a Fahrenheit thermometer

twice that on the Celsius scale?

Watch Video Solution

https://dl.doubtnut.com/l/_6brdHPJvCNAY
https://dl.doubtnut.com/l/_Tm5E58v0QzoD
https://dl.doubtnut.com/l/_brstpVvatBSJ
https://dl.doubtnut.com/l/_lEbd7rptZI6d
https://dl.doubtnut.com/l/_sIByhwEjETQq


16. Describe andd experment to determine melting point of ice and

boiling point of water.

Watch Video Solution

17. Explain why a constriction is provided in a clinical thermometer,

consiering the fact that during expansion mercury level while increasing

passes through the sae constriction.

Watch Video Solution

18. Describe an experiment to determine melting point of wax.

Watch Video Solution

19. Alcohol thermometers are preferred to a mercury thermomemter in

cold countries.

Watch Video Solution

https://dl.doubtnut.com/l/_sIByhwEjETQq
https://dl.doubtnut.com/l/_NQdRKyCkW2LU
https://dl.doubtnut.com/l/_qxGhNAhqTuOD
https://dl.doubtnut.com/l/_52guF6SSMfGm


Concept Application Level 1 Fill In The Blanks

Watch Video Solution

20. Describe, with a neat diagram, the working of Six's maximum and

minimum thermometer.

Watch Video Solution

1. If the melting point of ice at a given place is , the atmospheric

pressure at that place is _______

Watch Video Solution

0∘ C

2. A good conductor of heat will have ____specific heat capacity.

Watch Video Solution

https://dl.doubtnut.com/l/_52guF6SSMfGm
https://dl.doubtnut.com/l/_PIO09nfkZ9AE
https://dl.doubtnut.com/l/_TmBOfyCMFkZt
https://dl.doubtnut.com/l/_lAzBvSxWz7lj


3. Increase in pressure____ the melting point of ice.

Watch Video Solution

4. In Six's maximum an minimum thermometer, the indices are brought

down to the level of the mercury with the help of_____.

Watch Video Solution

5. The iron rims are fitted to the wooden wheels of bullock carts and

tongas by process of ____

Watch Video Solution

6. The normal human body temperature on Fahrenheit scale is ,

then its corresponding temperature on Kelvin scale is nearly

View Text Solution

98.4∘ F

https://dl.doubtnut.com/l/_pB32zemJMD3M
https://dl.doubtnut.com/l/_XC1y8ZxGSFc9
https://dl.doubtnut.com/l/_sau19ifEj0Bu
https://dl.doubtnut.com/l/_kD9ALn4F4ZE5


Concept Application Level 1

7. The average kinetic energy of the molecules of a sub stance ______

during the process of melting.

View Text Solution

1. A body at  is in thermal equilibrium with a body at 293K.

Watch Video Solution

20∘ C

2. In six' maximum and minimum thermometer, the thermometric liquid is

mercury.

Watch Video Solution

https://dl.doubtnut.com/l/_kD9ALn4F4ZE5
https://dl.doubtnut.com/l/_Usi8uHojqegu
https://dl.doubtnut.com/l/_vPD0Xzs1MTwk
https://dl.doubtnut.com/l/_nF7wGf3Ui2SN


3. Heat energy can be supplied to a substance without increasing its

temperature.

Watch Video Solution

4. Liquefaction is the process in which a solid changes into liquid on

supply of heat.

Watch Video Solution

5. When equal masses of water and iron are heated to the same change

in temperature, the heat absorbed by iron is more than the heat

absorbed by water.

Watch Video Solution

6. A body can have a temperature -10 K.

https://dl.doubtnut.com/l/_haB3ttqVqlzG
https://dl.doubtnut.com/l/_QDVuGHMFOiA4
https://dl.doubtnut.com/l/_YH2JxQqXpJt1
https://dl.doubtnut.com/l/_bns1YypAgYfY


Watch Video Solution

7. If the heat energy abosrobed by two identical bodies A and B is 1 calorie

and 1 joule, repsectively, the rise in temperature of A is greater than the

rise in temperature of B.

Watch Video Solution

8. Match the entries given in Column A with appropriate ones in Column

B. 

https://dl.doubtnut.com/l/_bns1YypAgYfY
https://dl.doubtnut.com/l/_59sbS4W0T3j1
https://dl.doubtnut.com/l/_i419GxTUGuuU


 


Watch Video Solution

https://dl.doubtnut.com/l/_i419GxTUGuuU
https://dl.doubtnut.com/l/_Xi1O1cgVrn6Z


9. Which of the following represents the smallest tem perature change?

A. 

B. 

C. 1K

D. Both (a) and (c )

Answer: B

View Text Solution

1∘ C

1∘ F

10. If C, F and K are the temperature on Celsius, Fahrenheit and Kelvin

scale,  are the change in temperature in celsium,

Fahrenheit and Kelvin scale, respectively, the correct relation among the

following is:-

A. 

B. 

ΔC, ΔF and ΔK

= =
C

5

F

9

K − 273

5

= =
ΔC

5

ΔF

9

ΔK

5

https://dl.doubtnut.com/l/_Xi1O1cgVrn6Z
https://dl.doubtnut.com/l/_1SQuPtYijsmP


C. 

D. 

Answer: B

Watch Video Solution

= =
ΔC

5

ΔF − 32

9

ΔK − 273

5

= =
C

5

F

9

K

5

11. The degree of hotness or coldness of a body is called its

A. heat capacity

B. latent heat capacity

C. temperature

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1SQuPtYijsmP
https://dl.doubtnut.com/l/_sSvhuR2piERy


12. When equal amount of heat is supplied to two different substances A

and B, the rise in temperature with time is graphically represented as

follows. Choose the correct statement. 

A. If masses of A and B are equal, specific heat of A is equal to specific

heat of B.

B. If mass of A is greater than mass of B the specific heat capacity of A

is greater than the specific heat capacity of B.

https://dl.doubtnut.com/l/_yRKUIzoXg7fD


C. Heat capacity of A is less than heat capacity of B.

D. None of these

Answer: C

Watch Video Solution

13. For a certain engineering application, it is required to rise the

temperature of a given mass of a body as quickly as possible. The material

should have

A. high specific heat capacity.

B. high density.

C. low specific heat capacity.

D. heat capacity.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_yRKUIzoXg7fD
https://dl.doubtnut.com/l/_xOGKRDwC4DCB


14. Specific heat capacity of water is

A. 

B. 

C. 

D. All the above

Answer: A

Watch Video Solution

1calg − 10C − 1

4186Jg − 10C − 1

4186kJkg − 1K − 1

15. Under normal conditions, naphthalene changes its state from______

A. solid to liquid

B. liquid to gas

C. liquid to solid

D. solid to gas

https://dl.doubtnut.com/l/_xOGKRDwC4DCB
https://dl.doubtnut.com/l/_8h3HfmsCt5bU
https://dl.doubtnut.com/l/_kBnU7T3yGhXA


Answer: D

Watch Video Solution

16. The distance betweent he LFP and UFP of a thermometer is 18 cm. the

readint on the thermometer in Fahrenheit scale when the length of the

mercury thread is 8 cm is____

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

212F ∘ F

112∘ F

80∘ F

180∘ F

https://dl.doubtnut.com/l/_kBnU7T3yGhXA
https://dl.doubtnut.com/l/_GUcawD4L2ZZi


17. A: At high altitude regions the cooking of food becomes difficult 

B: Water boils at lower temperature when the presure is low.

A. Both A and B are wrong.

B. A and B are correct and B is not the correct explanation of A.

C. A and B are correct and B is the correct explana tion of A.

D. A is correct but B is wrong.

Answer: c

Watch Video Solution

18. The change in temperature of a body is , then the change in

temperature of Kelvin scale is :-

A. 293 K

B. 25 K

C. 20 K

20∘ C

https://dl.doubtnut.com/l/_htcbePM3IjEd
https://dl.doubtnut.com/l/_yzXUuGifybO8


D. 253 K

Answer: c

Watch Video Solution

19. In the process of boiling,

A. kinetic and potential energy of water molecules increase.

B. kinetic energy of molecules increases and potential energy of

molecules decreases.

C. potential energy of molecules increases and kinetic energy of

molecules remains same.

D. kinetic energy of molecules increases and potential energy of

molecules remains the same.

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_yzXUuGifybO8
https://dl.doubtnut.com/l/_PLxrgWzfNYT3


20. When the pressure is increased,

A. melting point of ice decreases and boiling point of water increases.

B. melting point of ice and boiling point of water decreases.

C. melting point of ice and boiling point of water increases.

D. melting point of ice increases and boiling point of water decreases.

Answer: a

Watch Video Solution

21. Food in the pressure cooker is cooked faster, as

A. the boiling point increases due to an increase in pressure.

B. the boiling point decreases due to an increase in pressure.

C. more steam is available at .100∘ C

https://dl.doubtnut.com/l/_PLxrgWzfNYT3
https://dl.doubtnut.com/l/_T2rSIPljpBwJ
https://dl.doubtnut.com/l/_GXCBlxvqJ85b


D. more pressure is available at .

Answer: a

Watch Video Solution

100∘ C

22. Given that the ratio of specific heat capacity of alcohol to that of

water is 13 : 25, which of the following statements is true? 

A: When temperature is raised through  the heat energy absorbed by

2 kg of alcohol is less than the heat energy absorbed by 1 kg of water. 

B: Heat capacity of 2 kg alcohol is more than the heat capacity of 1 kg

water.

A. A is true and B is false.

B. A and B are true.

C. A is false and B is true.

D. A and B are false.

Answer: c

1∘ C

https://dl.doubtnut.com/l/_GXCBlxvqJ85b
https://dl.doubtnut.com/l/_0Lc8TyfZjg2Y


Watch Video Solution

23.  is numerically equal to

A. 

B. 233K

C. 

D. All the above

Answer: a

Watch Video Solution

−40∘ C

−40∘

−32∘ R

24. Which of the following properties are suitable for making cooking

utensils?

A. High specific heat and high conductivity.

B. Low specific heat and low conductivity.

https://dl.doubtnut.com/l/_0Lc8TyfZjg2Y
https://dl.doubtnut.com/l/_GxyiN20ci3FC
https://dl.doubtnut.com/l/_Nlbbn8gBRUU1


C. High specific heat and low conductivity.

D. Low specific heat and high conductivity.

Answer: d

Watch Video Solution

25. The advantage of alcohol is thermometric liquid is due to its

A. low-boiling point.

B. low-freezing point.

C. high-vapour pressure.

D. All the above

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_Nlbbn8gBRUU1
https://dl.doubtnut.com/l/_EfHzDfcTR1U0


26. The temperature at which molecular movement of matter ceases is

called_____

A. normal temperature

B. zero kelvin

C. abnormal temperature

D. None of these

Answer: b

Watch Video Solution

27. Gas thermometers are more sensitive as compared to liquid

thermometers, as their

A. coefficient of expansion is very high.

B. coefficient of expansion is very low.

C. density is very high.

https://dl.doubtnut.com/l/_cQhl5lUvHTC0
https://dl.doubtnut.com/l/_5RBtnchBTrpO


D. None of these

Answer: a

Watch Video Solution

28. Which among the following is the hottest substance?

A. Water at 

B. Steam at 

C. Mercury at 

D. All the above are equally hot.

Answer: d

Watch Video Solution

100∘ C

100∘ C

100∘ C

https://dl.doubtnut.com/l/_5RBtnchBTrpO
https://dl.doubtnut.com/l/_NANy0Ag40eoj


29. Mercury is used as thermometer liquid. Which among the following

properties of mercury is used in this?

A. Low specific heat capacity

B. High boiling point and low melting point

C. Low vapour pressure

D. All the above

Answer: d

Watch Video Solution

30. The difference in temperature of  is equal to the difference in

temperature of

A. 

B. 25K

C. 

25∘ F

25∘ C

25∘ R

https://dl.doubtnut.com/l/_vfBmNzid4vcb
https://dl.doubtnut.com/l/_FnPEQydBZtCc


D. None of these

Answer: d

Watch Video Solution

31. Arrange the following steps in proper sequence for the construction

and calibration of Celsius thermometer. 

(A) Lower fixing point is marked by immersing the bulb of the

thermometer in melting ice taken in a funnel. 

(B) The distance between the two fixed points is called fundamental

interval. It is divided into 100 equal divisions in Celsius scale. 

(C) Take a thick walled capillary tube with thin walled glass bulb and fill it

with mercury with the help of a funnel. 

(D) Mark the upper fixing point with the help of hypsometer. 

(E) Place the glass bulb in a hot oil bath while filling the mercury to

remove the air bubbles.

A. C A D E B

https://dl.doubtnut.com/l/_FnPEQydBZtCc
https://dl.doubtnut.com/l/_IaKTfP2jFJHp


B. C E A D B

C. C E A B D

D. C D B E A

Answer: b

Watch Video Solution

32. A given substance of mass 'm' is in solid state at certain temperature.

Arrange the following steps in proper sequence to calculate the total

heat energy required to just convert the substance completely into

gaseous state. 

(A) Note down the specific latent heat of vapor ization of the substance

and calculate the heat supplied to convert from liquid to gaseous state

using the formula. 

(B) Note down the melting point of the substance and calculate the heat

supplied to increase the temperature of the solid to its melting point. 

(C ) Note down the boiling point of the substance and calculate the heat

https://dl.doubtnut.com/l/_IaKTfP2jFJHp
https://dl.doubtnut.com/l/_CFl0FREwWIQT


supplied to increase the temperature of the substance from melting

point to its boiling point. 

(D) Add all the heat energies, it gives the resultant heat supplied to the

solid to just convert it into gaseous state. 

(E) Note down the specific latent heat of fusion of the substance and

calculate the heat supplied to convert the substance from solid state to

liquid state.

A. B D E C A

B. A C E D B

C. A B C D E

D. B E C A D

Answer: d

View Text Solution

33. Black surface is a

https://dl.doubtnut.com/l/_CFl0FREwWIQT
https://dl.doubtnut.com/l/_bCSeI7vJrs3f


A. good absorber of heat energy.

B. good radiator of heat energy.

C. Both (a) and (b).

D. None of these

Answer: c

Watch Video Solution

34. As the temperature difference between the ends of a conductor

increase the heat transfer rate by conduction____

A. increases

B. decreases

C. remains same

D. None of these

Answer: a

https://dl.doubtnut.com/l/_bCSeI7vJrs3f
https://dl.doubtnut.com/l/_XYPWR1n4GZf3


Watch Video Solution

35. heat transfer rate is more ini_____

A. glass

B. wood

C. plastic

D. copper

Answer: d

Watch Video Solution

36. Which of the following statements is (are) true about conduction?

A. A medium is necessary for the conduction of heat.

B. The rate of conduction of heat depends upon the nature of the

medium.

https://dl.doubtnut.com/l/_XYPWR1n4GZf3
https://dl.doubtnut.com/l/_V3JvNzuHCy3k
https://dl.doubtnut.com/l/_432w0xNoVARp


C. As the particles of a medium conduct heat, they only vibrate in their

own place, they do not leave their original place.

D. All the above

Answer: d

Watch Video Solution

37. A piece of ice at  is dropped into water at . Which of the

following statements is correct?

A. Ice melts.

B. Water freezes

C. Both (a) and (b).

D. None of these

Answer: d

Watch Video Solution

0∘ C 32∘ F

https://dl.doubtnut.com/l/_432w0xNoVARp
https://dl.doubtnut.com/l/_8dp3HDoFz5wl


Concept Application Level 2

38. Which among the following statements is/are correct?

A. The principle of a bimetallic strip is unequal expansion of metals.

B. An iron ring is cooled to fix it on a wooden wheel.

C. When the room temperature is raised, a pendu lum clock loses time.

D. Both (a) and (c).

Answer: (b and d)

Watch Video Solution

1. The density of two spheres of equal radius are in the ratio 1:3 and their

specific heat capacities in the ratio 2:1 what is the ratio of their heat

capacities?

Watch Video Solution

https://dl.doubtnut.com/l/_8dp3HDoFz5wl
https://dl.doubtnut.com/l/_aJl6okTPFqna
https://dl.doubtnut.com/l/_HEIuvcOzdDFy


2. The total distance between the lower fixed point and the upper fiixed

point of a thermometer is 12 cm. when this thermometer is palced in a

vessel containing 500g water the reading on the scale was 3 cm.. When 10

lead shots at  were dropped into this container the mercury level

int he thermometer rose to 31 mm. find the average heat capacity o the

lead shots. (you may leave the answer as a fraction). 

Specific heat capacity of water =4.2 kJ 

Watch Video Solution

100∘ C

kg − 1  K − 1

3. When the mercury thread rises to 3/4th of the distance between the

two fixed points, what is the temperature indicated by the Fahrenheit

scale?

Watch Video Solution

https://dl.doubtnut.com/l/_HEIuvcOzdDFy
https://dl.doubtnut.com/l/_dziQzLCZtuNU
https://dl.doubtnut.com/l/_QL4y5ScP6hBi


4. On a certain scale of temperature, the freezing and boiling points of

water are maked as 20 and 180 degress, respectively. What is the

temperature of a patient suffering with a high fever of  on that

scale?

Watch Video Solution

104∘ F

5. Two cylinderical bodies 'A' and 'B' have their radii in the ratio of 1:2 and

their lengths are in the ratio of 3:2. When equal amount of heat energy is

supplied to them, the rise in the temperature of A is found to be double

the rise in temperature of B. Determine the ratio of their specific heat

capacity. The ratio of density of A and B is 3:1

Watch Video Solution

6. The rate at which ice melts is more at the top when compared to the

bottom of the blacier. Explain whether the statement is true capacities.?

Watch Video Solution

https://dl.doubtnut.com/l/_KTRe2GGNc7Nt
https://dl.doubtnut.com/l/_8QUEPxufn7Wd
https://dl.doubtnut.com/l/_jUvEx02xNAB8


7. The density of two identical spheres are in the ratio 2:3 and their

specific heat capacities in the ratio 4:5 wha is the ratio of their heat

capacities?

Watch Video Solution

8. In a new scale of temperature the lower fixed point is marked as 0

corresponding to the melting point of a substance which is equal to

 and the upper fixed point is marked corresponding to the boiling

point of a substance which is equal to  The total length of the scale

between the UFP and LFP is divided into 200 equal parts. Determine the

temperature in the new scale when the temperature of a substance

measured by a celsius scale thermometer is 

Watch Video Solution

25∘ C

75∘ C

50∘ C

https://dl.doubtnut.com/l/_jUvEx02xNAB8
https://dl.doubtnut.com/l/_6BFaHc0h0un6
https://dl.doubtnut.com/l/_24JOnrIQytoL


9. How is water useful in the protection of fruits and vegetables from

damage during storage at sub zero temperature?

Watch Video Solution

10. Two substances P and Q are heated by using similar heating devices.

The mass of P and Q are 100 g and 75 g, respectively. The initial

temperature of P is  whereas the initial temperature of Q is . If

the temperature of the substance 'P' is increased to  in 40 minutes,

determine the time required to raise the temperature of Q to the same

value. The specific heat capacity of P and Q are 0.9 cal

, respectively.

Watch Video Solution

35∘ C 25∘ C

75∘ C

g ∘ C − 1 and 0.6  cal  g ∘ C − 1

11. Why is salt sprinkled under ice cube trays in a refrigerator?

Watch Video Solution

https://dl.doubtnut.com/l/_vNzuhcyuXBJu
https://dl.doubtnut.com/l/_v8tTn8I6xNDg
https://dl.doubtnut.com/l/_kx9dTUdlSAJ0


12. The temperature of a body is measured in Kelvin scale, Fahrenheit

scale and Celsius scale. Which among them is a more accurate reading?

Explain.

Watch Video Solution

13. It is possible to melt a piece of aluminium placed in a spoon made of

zinc.

Watch Video Solution

14. A new scale fo temperature is introduced. One degree temperature

difference on the new scale is found to be equal to . Determine the

temperature in Celsium scale when the new scale and the celsium scale

shows the saer eading. The lower fixed point on the new scale is 

degree.

Watch Video Solution

. ∘ C
5

8

33∘

https://dl.doubtnut.com/l/_O2HQeiBjDK9s
https://dl.doubtnut.com/l/_X6Mxn4hhlYDe
https://dl.doubtnut.com/l/_MA3aL5UFgyeG


15. Convert  into Fahrenheit and Kelvin scale.

Watch Video Solution

55∘ C

16. Three metallic spheres A,B and C have their masses in the ratio 1:2:3,

specific heat capacities in the ratio 6:3:4. When the initial temperature of

the spheres are measrued in Celsius scale, the ratio of their temperature

is found to be 1:2:3. Initially the two spheres A and B are brought into

contact. when equilibrium temperature is attained, sphere B is brought

into contact with 'C'. Determine the ratio of the final temperatures of A,B

and C as measured in Celsius scale.

Watch Video Solution

17. If 3360 J of heat is required to melt 10 g of ice, how many kilocalories of

heat should be supplied to melt 1 kg ice?

Watch Video Solution

https://dl.doubtnut.com/l/_k4y9k3JwIMqp
https://dl.doubtnut.com/l/_SW3LFYwAkh1R
https://dl.doubtnut.com/l/_IShHPIqBvZRc


Concept Application Level 3

18. Find the amount of heat enegy required to convert 100 g of ice at

 into stea at . 


(Take 

)

Watch Video Solution

−10∘ C 120∘ C

Sice = 0.5  cal g − 1. ∘ C − 1, SW = 1  cal g − 1 ^ ( ∘ )C − 1, SSteam = 0.5  ca

19. To obtain of water at , how many grams of stea at its stea point

must be passed to 70 g of ice at .

Watch Video Solution

50∘ C

0∘ C

1. Quantity of heat gained by 100 kg of iron in raising its temperature by

 is . If a heater can supply heat at the rate of 1000 J ,10∘ C 11 × 104cal s − 1

https://dl.doubtnut.com/l/_Zf00CrY0Sm9W
https://dl.doubtnut.com/l/_kDTux4Beb4dM
https://dl.doubtnut.com/l/_mRFIJHWDULIr


how much time does it take to heat an iron block of mass 2.5 kg when the

mecury level in a Fahrenheit thermometer rises by 45 divisions.

Watch Video Solution

2. Two containers X and Y are filled with water at different temperature.

When 10 g of water from container X is mixed with 20 g of water from

container Y, the resultant temperature is found to be . When 20 g of

water from container X is mixed with 10 g of water from container Y, the

resultant temperature is found to be . Determine the inital

temperature of water in container X and Y.

Watch Video Solution

20∘ C

30∘ C

3. In winters when the lakes start feezing, the weather becomes very

pleasant in the surrounding region. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_mRFIJHWDULIr
https://dl.doubtnut.com/l/_lP9AX2yyu0XT
https://dl.doubtnut.com/l/_w8oy8OATbKH8
https://dl.doubtnut.com/l/_gPyneRZCocEl


4. When two heating devices are used to heat two different substance A

and B the heat absorbed by A after 2 seconds is found to be equal to the

heat absorbed byy B after 3 seconds. The rise in temperature of A after 5

seconds is found to be equal to the rise in temperature of B after 6

seconds.i the ratio of masses o A and B is 1:2, determine the ratio of the

specific heat capacities of two substances.

Watch Video Solution

5. Ice cubes at  each of mass 200 g are dropped one after the other

into 2 kg water at  in such a awayy that after the first one melts

completely, the second one is dropped. If the heat energy required to

melt 1 g of ice is 80 cal, determine the maximum number of ice ice cubes

that can be dropped into the water such that no ice is left in the water

without melting.

Watch Video Solution

0∘ C

30∘ C

https://dl.doubtnut.com/l/_gPyneRZCocEl
https://dl.doubtnut.com/l/_PnNSr8B10RTz


6. if specific heat capacity of mercury is 0.033 cal , how

much heat is gained by 0.05 kg of mercury when its temperature rises

from  to 313K?

Watch Video Solution

g − 1  . ∘ C − 1

68∘ F

7. The heat capacity of a vessel is 300 cal  and the heat capacity of

water contained in the vessel is also 300 cal . How much heat (in

joules) is required to raise the temperature of water in the vessel by

?

Watch Video Solution

. ∘ C − 1

. ∘ C − 1

126∘ F

8. A new scale of temperature called TIME is introduced. The reading on

the new scale is twice the reading on the new scale is twice the reading

on a celsius scale when the temperature of a certain body is 373 K. The

reading on a Fahrenheit scale is found to (17/15)th the reading on TIME

https://dl.doubtnut.com/l/_Hg8pOhKXvD9R
https://dl.doubtnut.com/l/_7y1Q4Pj9aR3r
https://dl.doubtnut.com/l/_IwCl82dGxE0o


scale when the temperature of a body is . Determine the upper fixed

point and lower fixed point of the TIME scale.

Watch Video Solution

20∘ C

9. Two thermometers A and B are calibrated in different scales. When

both the termometers are placed in a container filled with hot water the

mecury thread in the thermometer A has mvoed through divisions

whereas the mercury thread in thermometer B has moved though 15

divisions. The reading on thermometers A and B are ,

respectively. if the lower fixed point fo the thermometer A is ,

determinet he lowe fixed pointt of the thermometer B.

Watch Video Solution

20∘ and 40∘

0∘

10. Two bodies of differet metals A and B having an equal mass are given

equal quantities of heat. Given that the molecular weight of A is greater

than that of B, compare the specific heat capacities of the two metals.

https://dl.doubtnut.com/l/_IwCl82dGxE0o
https://dl.doubtnut.com/l/_ZVMXyQHOdwpZ
https://dl.doubtnut.com/l/_Fl8vNRb1HnmE


(Note that the rise in temperature is a measure of the increase in the

average kinetic energy of the molecules.).

Watch Video Solution

https://dl.doubtnut.com/l/_Fl8vNRb1HnmE

